[ Fake rate vs vertpos | [ Duplicates Rate vs vertpos | [ Pileup rate vs vertpos |
~ 0.0%

.009
.008
.007
.006

P=--ememmmeom- P T L T

............................................

fakerate vs r
o
[ee]
T

o
(o))
auplicajessatevs

o
o
S
a

0.004

0.003

0.002
: : : 0.001E

I
IS

o
N

Ratio
Ratio

05

;ﬁﬁmﬂ. | S
1072 1071

ok H H
1 1 2 1072 107 1 1 2
track ref. pgint r (crr11)0 0 0 track ref. pgint r (cml)0
—— DQM_V0001_R000000001__Global__CMSSW _ckf__RECO

[Fakerate vs \ ——— DQM_V0001_R000000001__Global__CMSSW_mkFitOriginal_RECO

~ 0.5 . - - - . ~ 0.01, - - - - - ~ 0.07;

s FE i i 2 N TR o E 1
L R e S e e S S i S
L) SAROPU SUURR SO SOUIOS PTS NO B 008E -+ e b e B L00BF -+
I o T A o I
&0.35F -+ o e SRR A R.007F - e R R D.007F+--- e e e A
F . . . . . o F . . . . . o F . . . .
0.3F-+boreeforn e R SR Sttt S S S R A I S S
- H H H H H (o] E H H H H H E H H H H
0.25f------F-eeeeee ERRRERLS FTRRRES SRRRERRE ARREEEE 0.005F------5------- e R ARLELPEESERERR 0.005fF------5------- ERRREREE SRREEEES SRRRERRE ARREEEE
T E b e E b
b 0.004f+++wdeeseedonsfer bbb 0.004f+++wcfeoseeifores s
' 0008kt L 0003 b
0.002F -+ : : : ' 0.002f -+ rheeemesenenes SRR, e
0.001 0001+ eeesesse e
o Qe o G
g f g
o [ : : ] : : o [
L T RAOte 00 (T SN DRSPS RN sk
085 =20 =10 0 10 20 30 B —=0"=i0 0 10 20 30 B0 =00 10 20 30

track ref. point z (cm) track ref. point z (cm) track ref. point z (cm)

[ Fakeratevs.simPVz | [ Duplicates Rate vs sim PV 7 | [Pileup rate vs. sim PV z |

N 05— nO0Of——— n 0.0l—— , ; , ,
> : : : : : : : : : > E : : : : : : : > E : : : : :
80.45 20.009 20.009F <+ -eee- b e SR e
£ o4 5 008 o S S e S
£0.35 9.007 9.007F - -beeeees Beeees RPN R LT
9 Q 8 F . : : N
S 0.3 ©.006 ©.006F -~ -+-oos R e SO
e % o F . . : : :
$0.25 9.005 F ot SR S Feeees e e e
0.2 2.004 L0045 eeee b e
=] F : : : :
0.15 9.003 ] o AR ARRRERE s
0.1 0.002 0.002F+++++-i-e-ex- e e S feeeenns
0.05 0.001 0.001F+++++k+exex- e e . e
o 0B o Qs R e e e
« 1'055 ¢ : ] : : ] : ¢
1t S R TS S SRS SURS S S S e S
0.95F : T PERSR R C o : : : : : : C : : : : :
008 6 -4 -2 0 2 4 6 8 10 =7 =70 2 4 6 8 10 %0 40 —20 0 20 40 60

Sim. PV z (cm) Sim. PV z (cm) Sim. PV z (cm)



	Contents
	Page 1


